MIre

2313 w-h; 19 AW
PEeTTa MR

10.12.2015 ymza 7wn
PHae b ' s
TaEmsurEs 1 R0 2 ma
201.1.9561 :ompr'on
myw 2037 qwn - X 'no

(@77 ) TN A4 nINTOR AT wY BN

(NP2 25 -5 Amw TR 99) noRw 4 92 Yy miy’ w §
| 7292 700 DTV 2IDT2 MBRWT AR INDY NI
(7DD 2YTIIR) UL ST MWANWT TBY?

20T NPT NINGDM TI9TN MmN e

! 7oy




it g Bl AR

. . .

i 1'o» -r‘mw -

x MWRD -9 nENIW f(x) '1*37:19 $TIRPID bw WSy 79730 290 ('P112) (n1
f?,(/) JX;J 770 905 ax ab

ALY M/}cf D&/ /0/‘3 _‘/Xh"ﬂ/ Q D Xh #Qf I | i
/? —990 o o

5> AT

ﬁ/ce,/v >0 /o ;) €>0 faf /o/c.f/x)

B 0< /[x= 4/4
./f/x).—é/'<-'£' Sk

x—-»q

TR X, AT Naaca anTae L, 84 ,TRPTID N 19T ('m13) (21

—(f g)-—f g+f%x~ W TR 9D WONT L X, -2
f/x-mk);fy—/-A ><) f(x\’)}ﬁc)
C'8's gf) %ﬂz | I

DY—>»0

/ZM‘?) f(A’-J-AX}ﬁgA%aX) fﬂ(ﬁd)f); (i»} o ]Qﬁ(‘*AX);ﬁc) f’ﬁ(),?(*)

AN L | 74/)(7,_4,)() fﬂr) B
_—_,&Mﬁﬁ’vﬁﬁkjw f/.%m 52/) wy
- AX-20 AX20

oy i) Ui PELLED il TE £4)
EXH}O _JE_XEQ_/—J 410 “

7 . 7
£ | o | A ;}X >

{ /- . |
= fﬁ ﬂLﬁ]ﬁ /K"f\9 Qo?f?f!)c A= )3)3d CANYD
Liwm 090X = £6 Yok

/]




| 3-
xan ‘n:m NN :wnb !'r: Evﬂm‘v ‘7’7:: 1w7:nw-1 2 'on -:bmv

hrn [lnx In(1~ x)]

,&/f/ )
= Aem — =
X &X S
. )(/54'/(__
H/me = Ada Tox
X1 '/ ,-Z. Y S
7 B
s by -+ ZX&)U;__/ZW/&X Z&X)
/_,,,___
:)(-7/-— — 1 *

- _&2/4) 24/’1’) 0




3 'om moNw

- | | 11_)“(}0-(2 "*“3) 3 WA (7: 12) (33
-'A/&m @+3} 4%5/74—3))
/7$°° o
— 3 Lin /4—f(s/) .

h —=o2

¢([7+é),/ <2
i

.4.: 3 N VCA

‘ﬁ;




_ 7’37315 .ﬂﬁ'f?ﬂ?: x#1 ﬂﬁ:ﬁ? ('7: 13) (23

1' -
21/(x 1)

f( )*

30 2x =1 Ampsa mevn N ETETY T f(l) w73 e Bt
| E :‘_/O;A:o/'_’w ')(—'?ivf rek) |
Y “"L"c-’/.'- 92?9”—9100/ f/x)—9' o

| | :'/o’,o/f.\/)/'.j(ﬁf-f?@/bj |
| m ——-)-—-'-t‘x::j | 2 ;{_7-__? O)__'-f/’(]_‘ai
A f&) - Aew PO
Y= [+ yY-=/-
X= 123 a\aﬁ /c ,)ﬁfﬁ,’/_//a ff} J(; fqy $9 7/43(/




L :
RPN MY AT PO 1P S RN INER 410 N

f(0)= (x-Le)m( )

| (O F(0) 77
AR 2R TMY TN) T e mwrn DWIP 777 PRNVWRT TP KBS o

u@) +fﬁ")/>("‘0) /bﬂ)] ./'//&/n/ (2w

£l6) 'emw _ .5

jg)ﬁ P 'Wx_) = Qrcce) f‘-—}l).-&/xﬂte)
/ - S -

Pl — e fyfine) # ancamn() L

/o= ()"
@ﬁ)=—g’m_4e+m'cfz— =
_,__7.3;__+,3.7§
fro)= % (E- %)
I T,0 _ /) LU

%:@3'4‘6&%—5"/}-—;)(




